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, C. = 0.40
MREE Sy=? cvc— 0.1 ft’/d
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0, =5x120+10x115-15%x62.4 =814
=814 +1000=1814
o; =814+ 25x120=3814

S, = -L- Iog Ce -L- Iog—
1+e Uo 1+e o,
_ 0.05 x20x|ogl814+ 0.40 ><20><|Og3814
1+0.90 814 1+0.90 1814

=1.542 ft = 18.5inch
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(1) 3+ & % 300= & » H R % kaE S=?
(2) & %> %4 ¢ wKal0inches ?

C -t 0.1x300
1) t=300% T=—"r-= =0.3
2 H? 102

HESJIF B kg2 Exceli#y 27 74 1 § T=0.3pFU=0.613
fr1l S=S,xU=185x0.613 =11.34 inch

(2) S=10inch = U =S/S,=10/18.5=0.541
H A& A 5w fE2 Exceli# ¥ £ 7 74 1 § U=0.541p5T=0.231
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I~ FHE-MZ AT R AE 0 R Bt - R 2 K 2% 30, 80, 150, 300
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#7 0 U=UW; + UW,+ UsWs
W;=5/25=0.2 W,=W3;=10/25=0.4

(1) t=30= t,=30= T1:0'1X30—0.03 = U;=0.1954

0

U=0.1954x0.2=0.039 = S=185x0.039 =0.72 inch

(2) t=80= t,=80= Tl=%:280:0.08 = U;=0.3192

t,=80-50=30=% T, = 0.1x30 _ 0.03 = U,=0.1954

102

U=0.3192x0.2+0.1954 x 0.4 = 0.142 = S = 18.5 x 0.142 = 2.63 inch

(3)t=150=% t;=150= T, = 0'112150 =0.15 = U;=0.4369
t,=150-50=100% T, = 0'112100 =0.10 = U,=0.3568
0.1x50

t3=150-100=50=% T, = T =0.05 = U3=0.2523

U=0.4369x0.2+0.3568 x 0.4 + 0.2523 x 0.4 = 0.331
= S=18.5x0.331=6.12 inch

(4) t=300= t,=300= Tl:%=0.30 = U;=0.6132

~ 0.1x250

t,=300-50=250=% T, = =0.25 = U,=0.5622

10>

t3=300-100=200=% T, = % =0.20 = U3=0.5041

U=0.6132x0.2 +0.5622 x 0.4 + 0.5041 x 0.4 = 0.549
= S =18.5x0.549 = 10.16 inch
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